

NORTH SURREY SKATING CLUB SUMMER 2024 FREESKATE & DANCE/SKILLS July 2- August 16, 2024

NAME:		_ BIRTHDATE: MONTH	DAY	YEAR
ADDRESS:			FEMALE:	MALE:
CITY:	POSTAL CODE:	PHONE	E:	
SKATE CANADA #:	HOME (CLUB:		
COACH:		COACH'S PHONE:		
TESTS PASSED: FREESKATE	DANCE	ARTISTIC	SKI	LLS
It is understood that the North Surrey	Skating Club, its operators and affi	liated staff are not responsib	ole for injuries or los	s, however caused.
PARENT'S SIGNATURE:	E-MAIL:		DATE:	
If you do not wish your child to be photo	ographed or take part in any form of m	edia event please sign the foll	owing space	

_____. If you do not sign we will assume permission has been granted.

EMERGENCY CONTACT NAME & NUMBER: (print clearly)

Priority Sesssions Given to Stated Ice Group Level

Register by June 18,2024 for applicable 10% or 20% discount. The discount only applies to NSSC Members Only. Ice will be cancelled if insufficient numbers register early.

**Please note that all sessions must be booked with the Coaches prior to registration.

Do not register before confirmation of your Coach

Total Ice Costs (from ice schedule)	\$
New Summer joining members only: Nssc Club Fee (non- refundable) (2023/2024 Skate Canada Fee \$53.00, Admin Fee \$0.35, Insurance Fee \$0.65, Safe Sport Fee \$5.00, **Nssc Skate Canada Fee Increase Subsidy for 2023/24 Season Only -\$15.00)	\$59.00 <u>-(\$15.00)</u> <u>\$44.00</u>
Total	\$

Fees are payable in full at the time of registration. No refunds will be issued after 21 Days from the start of your program, unless a medical certificate is provided, or special permissions have been approved. All refunds from full withdrawal of programs are subject to a \$25 fee. If paying in cash, payment must be made following the same payment schedule as if paying by cheque.

CREDIT CARD PAYMENTS	CHEQUES PAYABLE TO NSSC			
VISAMASTERCARD	**NSF Cheques are subject to a \$30 Admin Charge			
CARD #EXPIRY/				
NAME ON CARD				
SIGNATURE DATE:	\$ TOTAL			

**THIS FORM IS FOR YOUR REFERENCE, PLEASE REGISTER ONLINE AT <u>https://www.northsurreyskatingclub.ca/</u> OR EMAIL TO <u>registerwithnssc@gmail.com</u> if you have further questions



NORTH SURREY SKATING CLUB FREESKATE & DANCE/ SKILLS - SUMMER 2024

July 02 – August 16, 2024

Week 1 Tue Jul 02 - Fri Jul 05	Week 5 Mon Jul 29 - Aug 02
Week 2 Mon Jul 08 - Fri Jul 12	Week 6 Mon Aug 05 - Fri Aug 09 (BC Day Mon. Aug 05 No skating)
Week 3 Mon Jul 15 - Fri Jul 19	Week 7 Mon Aug 12 - Fri Aug 16
Week 4 Mon Jul 22 - Fri Jul 26	SUMMER Extra Ice Aug 27 & 28 5-6:30pm @NSSIC Rink #3

Summer Afternoon Skating is at Surrey Sports & Leisure Centre (Fleetwood Arena) – 16555 Fraser Highway Rink#3

*Summer Morning Skating is a North Surrey Sports ans Ice Complex (North Surrey Arena)- 10950 126A St. *Rink#1

MONDAY Fleetwood #3	TIME July 8- Aug 12	Note: No Skating Jul 1 Canada Day, Aug. 05 BC Day				RCL EEK				соѕт	ALL WEEKS	COST
	3:30 - 4:15 PM	Jr. Freeskate & Skills	2	2 (3	4	5		7	\$9.75	\$48.75	
	3:30 - 4:15 PM	Rising Stars (Mon & Wed Package)	2	2 (3	4	5		7	\$11.00	\$132.00	\$110.00
	4:15 - 5:00 PM	Canskate #1 (Mon & Wed Package)	2	2 (3	4	5		7	\$11.00	\$132.00	\$99.00
	5:00 - 5:45 PM	Canskate #2 (Mon & Wed Package)	2	2 (3	4	5		7	\$11.00	\$132.00	\$99.00
	5:00 - 5:45 PM	Teen /Adult (Monday & Wed Package)	2	2 (3	4	5		7	\$11.00	\$132.00	\$99.00
	5:45 - 6:00 PM	Ice Clean										
	6:00 - 7:00 PM	Inter/ Senior/ Dia Freeskate (Star 4& up)	2	2 (3	4	5		7	\$13.00	\$65.00	
	7:00 - 8:00 PM	Open Dance & Multi Purpose	2	2 (3	4	5		7	\$13.00	\$65.00	
		Dance has priority & right of way, Must Yield to Dance!										
TUESDAY	July 2- Aug 13											
North Surrey #1	8:00 - 9:00 AM		1 2	2 (3	4	5	6	7	\$13.00	\$91.00	
	9:00 - 10:00 AM	Open Freeskate	1 2	2 (3	4	5	6	7	\$13.00	\$91.00	
	10:00 - 10:15 PM	Ice Clean										
	10:15 - 11:00 AM	Open Multi Purpose	1 2	2 (3	4	5	6	7	\$9.75	\$68.25	
WEDNESDAY	July 3- Aug 14											
Fleetwood #3	3:30 – 4:15 PM	Jr. Freeskate & Skills	1 2	2 (3	4	5	6	7	\$9.75	\$68.25	
	3:30 - 4:15 PM	Rising Stars (Monday & Wed Package)	1 2	2 (3	4	5	6	7	\$11.00	Included w	ith Monda
	4:15 - 5:00 PM	Canskate #1 (Mon & Wed Package)	1 2							\$11.00	Included w	ith Monda
	5:00 - 5:45 PM	Canskate #2 (Mon & Wed Package)	1 2	2 (3	4	5	6	7	\$11.00	Included w	ith Monda
	5:00 - 5:45 PM	Teen/ Adult (Mon & Wed Package)	1 2	2 3	3	4	5	6	7	\$11.00	Included w	ith Monda
	5:45 - 6:00 PM	Ice Clean										
	6:00 - 7:00 PM	Inter/ Senior/ Dia Freeskate (Star 4& up)	1 2	2 3	3	4	5	6	7	\$13.00	\$91.00	
	7:00 - 8:00 PM	Open Dance & Multi Purpose	1 2	2 (3	4	5	6	7	\$13.00	\$91.00	
		Dance has priority & right of way, Must Yield to Dance!										
THURSDAY	July 4 - Aug 15											
North Surrey #1	8:00 - 9:00 AM	Open Multi Purpose	1 2	2 :	3	4	5	6	7	\$13.00	\$91.00	
	9:00 - 10:00 AM	• •	1 2							\$13.00	\$91.00	
	10:00 - 10:15 AM	•			_		-	-	-	+ -		
		Open Multi Purpose	1 2	2 (3	4	5	6	7	\$9.75	\$68.25	
FRIDAY	July 5 - Aug 16											
North surrey #1	8:30 - 9:30 AM	Open Multi Purpose						6		\$13.00	\$91.00	
	9:30 - 10:30 PM	Open Multi Purpose	1 2	2 :	3	4	5	6	7	\$13.00	\$91.00	

Discount Excludes :

Rising Stars, Canskate and Teen/ Adult Programs. All discount has been applied to the final amount.

Note: If you are buying less than all weeks, use the 1-week price X the number of sessions attending.

Home Club Skaters with North Surrey Coaches:					
Deduct 10% from ice costs, if registering a minimum of 10 sessions or	Sub- Total Ice Costs \$				
Deduct 20% from ice costs, if registering a minimum of 20 sessions	10% or 20% Discount \$				
	Total Ice Cost \$				

QUALIFICATIONS FOR SUMMER 2024

A Reminder to all Skaters : Please be mindful on the ice and watch out and give courtesy to skaters who have their backs to you or have right of way. Keep moving , do not stay in one spot. Parents please review Club Rules available on our website with your skater/s

Open Multi-Purpose:	Must be booked in Private Lessons.
Dance/ Open- Multi purpose:	Monday and Wednesday Evenings: Dance & Partnering gets priority and right-of-way. All Skaters must yield! Must be booked in Private Lessons
Rising Stars Canskate & Teen/ Adult	** Please note this is a Monday and Wednesday Package which includes Ice and Coaching Fees .We recognize that family vacations may overlap with the summer skating schedule, we have included a two/three session discount for the Summer Packages
Junior Free & Skills:	Club skaters in Rising, Junior or who are STAR 1, 2, or 3.
Int./Sr./ Dia Freeskate:	Club skaters in Intermediate, Senior, Diamond or Star 4 and higher



North Surrey Skating Club Summer 2024 Off- ice Classes Complete and submit to Coach Elizabeth

Week 1	July 1-5(No Monday)	Week 5	July 29- Aug 2
Week 2	July 8-12	Week 6	Aug 5-9 (No Monday)
Week 3	July 15-19	Week 7	Aug 12-16
Week 4	July 22-26		

Skater Name

(First)

(Last)

Phone number______

Email _____

Day	Circle Group you will attend	Time	Circle weeks you will attend	Cost
Monday (Fleetwood)	Junior/ Intermediate	4:30- 5:00pm	23457	\$8.00 per class
Wednesday (Fleetwood)	Junior/ Intermediate	4:30- 5:00pm	1 2 3 4 5 6 7	\$8.00 per class
Monday (Fleetwood)	Intermediate/ Senior/ Dia	5:00- 5:45pm	23457	\$12.00 per class
Wednesday (Fleetwood)	Intermediate/ Senior/ Dia	5:00- 5:45pm	1 2 3 4 5 6 7	\$12.00 per class
Tuesday (North Surrey)	Open	11:15- 12:00pm	1 2 3 4 5 6 7	\$12.00 per class
Thursday (North Surrey)	Open	11:15- 12:00pm	1 2 3 4 5 6 7	\$12.00 per class
Total # of classes		At \$8.00 per class	Total Amount	\$
Total # of classes		At \$12.00 per class	Total Amount	\$
*Discount of \$10.00 if y	ou book 10 or more classes	Discount if applicable	Less Amount	\$
			Balance Owing	\$

Please forward completed off- ice form and payment to Elizabeth Roman. We accept Cheques made out to <u>NSSC Coaches and Cash</u> ** Classes with low enrollment are subject to cancellation. You will be contacted only if a class is cancelled. Please keep a record of your booked times and arrive at your first class about 5 minutes early. Meet your coach in the arena lobby of the Fleetwood or North Surrey facility.